Variation of ‘g’ on the Earth’s Surface
(1) The surface of the Earth is not smooth.

There are mountains and valleys.

‘g’ can increase or decrease.

(2) The Earth is not a perfect sphere.

It is flattened at the poles. ‘g’ is lower at the poles than at the equator by about 1.8x10-2 m.s-2.

(3) The Earth is rotating on its axis.

Part of the acceleration due to gravity supplies the centripetal acceleration, so ‘g’ is reduced by about 3.4x10-2 m.s-2
(4) The moon also provides a gravitational pull.

When in line, ‘g’ is reduced by the influence of other large bodies in space.

